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i : '}if-iFlnd the dlfferentlal coefﬁclent of ’cotx e

e ‘ Answer ALL questlons e e
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b _'Show that the equatlons x +—2 y 3 y z 2 x+ y+~z _1 are con51stent and solve
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e 13 Dxfferentlate tan ( SOEL. ) , v :
N A RN 1 smx L T T e
b f}j‘leferentlate (1) y (sm x) and (u) y =a’
Yo 4an Fmd thc n dlfferentlal coefﬁcxent of cos 95111 0 e T e T T e
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SECTION-A 5 Marks' I .
‘- Answer ALL questions =
ALL questlons carry EQUAL marks

o o .The sum of the elgen values of the matnx A E ‘ 3 } 15 T

G @0 o @8 W5

) 2 o 'thlch of the followmg part1a1 d1fferent1al equatlons is obtamed from [

e z= ax+by+a by elmnnatmg a,b 7 i
e '(1) z= px+qy o (11) z qx+py R ST
< {-j(m) z= px+qy+q (1v) z= px+qy+p

- 3 When f (x) == (n x) 1s expressed a s a Fourler serles 1n the mterval (0 27:) then the | ; L

/

“‘_Valueof ao 1s N SRR

oA ;}";_The Laplace value of the functlon I +2t+3 s s o

fe '(1).‘ SR (11)
?(111) 3+3+2 S e (1V)—2;+ N

s 5 ‘fWhlch of the followmg methods is knovvn as dlrect method to solve S1multaneous

o 9 a "f..lqnd [ 1 ]
LT T s(s+1)( +2)

'-'j":'"'.".-"flmear equations? -
() Gassacobi = (11) Gauss Jordan

.Answér ALLrQueStlons e

B b “ Prove taat 1f the matrlx B is snmlar to the matnx A then A and B have the
o ',,same haractenstlc equatlon : R A A P

- ; 7’a '.'.Ehm mate the arbltrary functlons f and (p from the relatlon . L

X 3 z j(x+ay)+¢(x ay)

-'ﬂ;"?‘v-‘"b}ﬁ"f‘f-So ve z= px+qy+ ‘1"+ip_2.+'q._’-*_-v.f R N
8 a Enpress f (x) x, -7 <x < 7 as a Founer senes thh penod 27r
b Fmd asine senes for f (x) c m the range 0 to 7Z'

ok T

L (111) Gauss ellmmatlon - (W) none of these LN I

ALL Questlons Carry EQUAL Marks (5 x3= 15) '- o



